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' EEEEER. EXERCISE 4.5

Draw the following.
1. The square READ with RE=5.1 cm.

2. A thombus whose diagonals are 5.2 cm and 6.4 cm long,

3. A rectangle with adjacent sides of lengths 5 cm and 4 cm,

4. Anparallelogram OKAY where OK = 5.5 cm and KA = 4.2 ¢m
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To construct: A square READ.

Steps of constructios
G) DrawRE=51cm.
() At point E, construct an angle of 90" and draw an arc of radius 5.1 cm,
which intersects at point A.

(i) Atpoint R, draw an arc of radius 5.1 cm at point A, draw another arc of
radius 5.1 cm which intersects the firstarc at point D.
(@) JoinAD and RD.
Itis the required square READ,
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Step I: Draw AC = 6.4 cm.
Step II: Draw the right bisector of AC at E.
Step IlIl: Draw two arcs with centre E and

radius = 52_2 = 2.6 cm to cut the previous
diagonal at B and D.

Step IV: Join AD, AB, BC and DC.

Is ABCD is the required rhombus.
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ction: Let the two adjacent sid
ngle PQRSbe PQ=5cmand QR =4

P

5cem Q

Step I: Draw PQ =5 cm.

Step II: Draw an angle of 90° at Q and cut QR
=4cm.

Step IlIl: Draw an arc with centre R and radius
5cm.

Step IV: Draw another arc with centre P and

radius 4 cm to meet the previous arc at S.
p V: Join RS and PS.
5, PQRS is the required rectangle.
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Construction:

Step I: Draw OK = 5.5 cm.

Step Il: Draw an angle of any measure (say
60°) at K and cut KA = 4.2 cm.

o 5.5 cm K

Step lll: Draw an arc with centre A and radius
of 5.5 cm.

Step IV: Draw another arc with centre O and
radius 4.2 cm to cut the previous arc at Y.
Step V: Join AY and QY.

hus, OKAY is the required parallelogram.

T
No, it is not a unique parallelogram. The angle
at K can be of measure other than 60°.




